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M FHEZFINS L X
Bl FHdESZ N (EEREED
AR S - FH . O(BH) - NSAY - BES O &k i HimE=ET
O=71=2= O 22228 e 80,000
O3 stEel SHAEESE 22 e 25,000
OMAH =2l Ot 32 Hd 25,000
NEE=2H =Y &3 0sE Fd| 48,300 0 48,300
403 X SHMSX=01H 48,300 48,300
01 XtXIEHNIAH=2 2 = 48,300 48,300
OLET=H 28 SFNE Ful 48,300
FEAZE YT HEX S 78,698,3%6 69,996,635 8,701,761
= 69,693,800
J| 197,000
[ 8,807,5%6
TR 78,501,3%6 69,853,635 8,647,761
= 69,693,800
< 8,807,596
=N20(=21) 74,395,456 66,184,115 8,211,341
= 68,250,000
[ 6,145,456
202 OiY| 4,250 4,250
01 2ot 4,250 4,250
FHEA RF8 4,250
308 KXISHMSOIH 74,391,206 66,179,865 8,211,341
= 68,250,000
[ 6,141,206
01 AXSHBLEES 74,391,206 66,179,865 8,211,341
O=FHE0WH At 74,391,206
= 68,250,000
< 6,141,206
BASE 2dRX =20 N 84,000 84,000 0
403 XX SHHMSX=01M 84,000 84,000
01 XXIEHH A= 2 = 84,000 84,000
OLRATE =ERK =H=0 XA 84,000
AT SSO0HIE =Xt K& 360,000 360,000
403 XX SHHSKZ0IA 360,000 0 360,000
01 XtXIEHXI A= 2 = 360,000 0 360,000
OL2E SEO0HIE =Xt X 360,000
ZACE ITUUFE 1 FA(IE 9x) 1,500,000 351,800 1,148,200
403 XX HHMSK=01H 1,500,000 0 1,500,000
01 XtXIEHH A= 2 = 1,500,000 0 1,500,000
OZETE SSUUFH A (ga ¢x) 1,500,000
ZOHOIZ=E JNTALH(=212) 251,940 187,720 64,220
= 193,800
[ 58,140
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A AEDER SN ASD
HE: FOAFINUENZRIEA
ol FEEHAE (CHe: =)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
403 XXM S K201 251,940 187,720 64,220
= 193,800
= 58,140
01 XtXIEHHI A= 2 = 251,940 187,720 64,220
OTONCIFE JHEAIR (=) 251,940
= 193,800
= 58,140
HEAZA StAl SEXIA AIK(=21) 1,625,000 3,016,000 21,391,000
= 1,250,000
& 375,000
308 AXISHMSO0I& 1,625,000 3,016,000 A 1,391,000
= 1,250,000
& 375,000
01 IXESHNBAEEXS 1,625,000 3,016,000 1,391,000
OHHEN StAl SEXH At (=1) 1,625,000
= 1,250,000
= 375,000
LATEH S3AUFE HE F=XI(EH &) 285,000 0 285,000
403 XX SHHMSK=01M 285,000 285,000
01 XISHHAIZ2E X 285,000 285,000
OZETE STYUUFE A (EH &X|) 285,000
FHEEINE XA 197,000 143,000 54,000
| 197,000
CEISAUUFE AENE(=2D) 197,000 108,000 89,000
| 197,000
403 XXM S K=201& 197,000 108,000 89,000
| 197,000
01 XISHHMAZ2E X 197,000 108,000 89,000
O-=33AUFE A&HNA(=21) 197,000
J| 197,000
Y 2AZH(A=D) 35,001 36,570 1,569
23| 35,001 36,570 A1,569
SM2E J|2Z& | 35,001 36,570 A1,569
201 B2 3AH| 24,903 26,130 A1,227
01 AtR2teltl 24,903 26,130 A1,221
EA2Y AIR2t2|Y] 24,903
202 04| 6,498 6,840 N342
01 =WHO4HI 6,498 6,840 A342
OfAM2E =N 6,498
203 R F=&| 3,600 3,600
M EAN2IHRFAL] 3,600 3,600
©202! 0|5t 300,000& 123 3,600
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